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A physical quantity Q is described by the relation Q = a*b3/c?. If the relative errors in the
measurement of a, b and c is 3%, 4% and 5% respectively, then the percentage error in Q
will be :
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A particle is tied to a @ It is moving such that itﬁust completes the vertical circla Find
the ratio of kinetic energy at lower most point and upper most point respectively.

@ - Ko _ L mC5yR)
@ sp  F TR
® ::
® :




Ty N
JEE MAIN 2024 © = PAPER DISCUSSION

The displacement of a particle changing with time as x = 6t3 - 12t + 20 t + 30. Find the
velocity (in m/s) of the particle when its acceleration became zero. (tistimein s)
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In the given circuit, find the best suitable value of R in ohms
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Electric field in a region is_given by (6i + 5] + 3k)N/c, find flux passing through a surface
of area 30 m? which is in@lane.
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Consider a rod moving in an uniform magnetic field as shown in the diagram below. The
induced emf across the ends of the rod is
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In a simple pendulum of length 10 m, string is initially kept horizontal and the bob is
released. 10% of energy is lost till the bob reaches lowermost position. Then find speed of
bob at lowermost position.,
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The intensity at each slit are equal for a YDSE and it is maximum [ __at central maxima. If /
is intensity for phase difference 7n/2 between two waves at screen. Then I/I . is?

A | A 1= %L 69%2(4)3
& i o

=
4T, = Tonay - »Im@ -’H

@ 3/8 T~ Ty Qm%'

J
1/\12 3%/'0 &aQ /Sdhdfg uﬂnenﬁ%moq /\\?;24‘ A{} I=TMO\Y <Ji_>

_ A I/ .
/IWW(\\/L




p—
JEE MAIN 2024 = -~ PAPER DISCUSSION

An electromagnetic wave has electric field given by E = @ in [2ﬂ {30 x 10°t — l—lo-x}‘

where, x and t are in S.I units. The max magnetic field is:
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A planet at distance r from sun take 200 days to complete one revolution around the sun.

what will be time period for a planate at distance r/4 from the sun ?
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N moles of non - linear polyatomic gas (degree of freedom = 6) is mixed with 2 moles of
monatomic gas. the resultant mixture has molar specific heat capacity at constant volume
equal to that of a diatomic gas, then Nis ..........ccoeereeennn
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A particle starts oscillation from origin about x - axis with period of oscillation 6 s and
amplitude A. If time take by particle to reach fromx=A to x = \/}A/Z for the first time is .

Then value of 6 T is S. 60)8._& ] i_?z T= 6<ec.
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In the circuit below, the charge on 6 uF when A and B are shorted is _@_ uC.
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Find current in 4€2 resistor.
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L = 1//5\/ '—qy V.

Two particle X and Y having same charge are accelerated through same potential, and

enters a uniform magnetic field perpendicular to it and perform circular motion with
radius R, and R,, then the ratio of their respective masses is :
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Two rods of same material and same volume with ratio of their radius 2 : 1 produce same
extension on applying force F, and F, respectively, then find F, /F.. \( F‘ L
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A bob of mass 900 gm of length 1 m is released from horizontal. Find the tension at its
lowest point if it moves at 10 revolutions per minute there (g = 9.8 m/s?)
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Determine the work required to split a drop of radius R into 27 identical smaller drops.
surface tension is T.

U= T(4rR™) O &y ‘v d
gBRRZT 5y &6 ©

U‘?: 2 7 T(*KY")
o 4 TR2T :%T‘“E

2 R2T ’ X y 3
@ >3 Q-ﬂg‘j ?ﬂ{% Q}(%ﬁ)

O Ug -0y < @ (4rTR)s WRE



7D N
JEE MAIN 2024 = -~ PAPER DISCUSSION

Find the output Y of the following login gate.
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The voltage and current for an AC sources is given by
V= 100 sin(mt) volt

[ =100 sin (ot + ©/3) mA

Calculate the average power loss.
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A setup having concave mirror forms a virtual magnified image (m = 2). the separation
between image and object is 15 cm. find the focal length of the mirror.
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Two radiation of wavelength 300 nm and 500 nm are emitted from two identical source of
power 25 watt. Find the ratio of number of photons emitted per second from each sources.
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A uniform wire has length L and radius r. it is acted on by a force F as shown. the
elongation is AL If F & r are both halved keeping L constant, the new elongation will be
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